SoLUTION

CALCULUS 11 QUIZ 1V MATH-UA.0122-007

Write your solutions in steps.

L. {4 points) Find the length of the curve y = Insecz, 0 < x <

'ﬁ\‘—‘l

2. (3 points) An aquarium with length 1, width b and depth ¢ is full of water. Find
the work needed to pump half of water out of the aquarium. (Density of water
is p, and gravitational acceleration is ¢) '

3. (3 points) A vertical triangular plate is submerged in water as shown in the
picture. Compute the hydrostatic force against one side of the plate. {Density
of water is p, and gravitational acceleration is g)
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